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1. What essential role do pollinators play in agronomy?
A. They aid in soil nitrogen fixation
B. They assist in weed control

C. They facilitate crop reproduction through pollination
D. They increase soil moisture retention

2. Which practice is least likely to support sustainable
agriculture?

A. Cover cropping
B. Crop rotation

C. Frequent application of pesticides
D. Organic farming methods

3. Why are rice fields flooded aside from providing water for
crops?

A. To control weeds

B. To provide water for mosquito reproduction
C. To set up anaerobic conditions

D. To increase nutrient availability

4. What type of farming practice emphasizes the balance of
ecological health and agricultural productivity?

A. Conventional farming
B. Organic farming

C. Sustainable agriculture
D. Industrial agriculture

5. Which term refers to the below ground, horizontal stems
that can reproduce asexually?

A. Stolon
B. Culm
C. Rhizome

D. Internode
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6. What structure within leaves is responsible for carrying
nutrients?

A. Veins
B. Stolons
C. Rhizomes

D. Inflorescence

7. In the Universal Soil Loss Equation, A=RKLSCP, what does
P stand for?

A. Soil erodibility factor

B. Conservation practice factor
C. Rainfall factor

D. Tolerance factor

8. Which method is beneficial for managing soil fertility
sustainably?

A. Exclusive use of chemical fertilizers

B. Frequent monocropping

C. Utilizing green manures and cover crops
D. Only applying fertilizers during harvest

9. Which of the following describes a characteristic of
conservation tillage?

A. Involves intense soil disturbance
B. Maintains a cover of crop residue on the surface

C. Requires frequent tillage operations
D. Prevents soil compaction

10. What is a characteristic(s) of soybean cyst nematode
infection?

A. Healthy roots

B. Symptoms occur across the entire field
C. Stunted roots

D. Both healthy roots and symptoms occur across the field
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Explanations
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1. What essential role do pollinators play in agronomy?
A. They aid in soil nitrogen fixation
B. They assist in weed control

C. They facilitate crop reproduction through pollination
D. They increase soil moisture retention

Pollinators play a critical role in agronomy primarily by facilitating crop reproduction
through pollination. Many crops, including fruits, vegetables, and nuts, rely heavily on
pollination to set fruit and produce seeds. This process involves the transfer of pollen
from the male structures of flowers to the female structures, enabling fertilization and
the subsequent development of seeds and fruit. Pollinators such as bees, butterflies,
moths, and even some birds are integral to this process. Their activities not only enhance
the yield but also improve the quality of the crops harvested. Without effective
pollination, many plants would produce fewer seeds and fruits, leading to reduced
agricultural outputs. While nitrogen fixation, weed control, and soil moisture retention
are important factors in agronomy, they are not directly related to the role of pollinators.
Nitrogen fixation is primarily a function of specific bacteria in the soil that convert
atmospheric nitrogen into a usable form for plants. Weed control involves managing
unwanted plant species, and soil moisture retention relates to soil health and structure
rather than pollinator activity. Therefore, the emphasis on pollinators’ role in crop
reproduction through pollination is crucial for understanding their value in agriculture.

2. Which practice is least likely to support sustainable
agriculture?

A. Cover cropping
B. Crop rotation
C. Frequent application of pesticides

D. Organic farming methods

Frequent application of pesticides is least likely to support sustainable agriculture
because it can lead to a range of environmental and health issues. Sustainable
agriculture aims to meet the needs of the present without compromising the ability of
future generations to meet their own needs. Practices that promote biodiversity, enhance
soil health, and reduce environmental impact are key components of sustainable
methods. Frequent pesticide use can contribute to problems such as pesticide resistance
in pests, harming non-target organisms, including beneficial insects and pollinators, and
contaminating soil and water resources. In contrast, practices like cover cropping, crop
rotation, and organic farming methods work to improve soil health, increase biodiversity,
and reduce dependency on chemical inputs, all of which are fundamental to
sustainability.
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3. Why are rice fields flooded aside from providing water for
crops?

A. To control weeds

B. To provide water for mosquito reproduction
C. To set up anaerobic conditions
D. To increase nutrient availability

Flooding rice fields serves multiple purposes that enhance the cultivation of rice beyond
just providing water. One of the primary benefits is weed control. When fields are
flooded, the water can suppress the growth of many weed species that cannot survive in
submerged conditions. This is particularly advantageous in rice production, as it reduces
competition for nutrients and space that weeds would otherwise pose to the rice plants.
In addition to managing weeds, flooding creates anaerobic conditions in the soil, which
affects the types of microorganisms that thrive in that environment. This can influence
nutrient availability and overall soil health, but the specific focus here is on the
elimination of weed competition. Mosquito reproduction is not desirable in agricultural
settings, and although flooding can create habitats for mosquitoes, this is not a
beneficial reason for flooding rice fields in a farming context. Nutrient availability is a
complex aspect that can also be influenced by flooding but isn't the main rationale
compared to the effective weed control it provides. Thus, the practice of flooding is
primarily beneficial for managing weeds and ensuring optimal growth conditions for rice.

4. What type of farming practice emphasizes the balance of
ecological health and agricultural productivity?

A. Conventional farming
B. Organic farming

C. Sustainable agriculture
D. Industrial agriculture

Sustainable agriculture focuses on the long-term health of the ecosystem while
maintaining agricultural productivity. This practice emphasizes techniques that conserve
resources, promote biodiversity, and replenish soil health, therefore ensuring that future
generations can continue to farm effectively. It seeks to minimize negative environmental
impacts and often incorporates practices such as crop rotation, reduced chemical inputs,
and integration of animal and plant systems. By balancing ecological health with the
need for food production, sustainable agriculture aims to create farming systems that are
resilient and capable of adapting to changing environmental and market conditions. In
contrast, conventional farming typically relies on high inputs of chemical fertilizers and
pesticides, which can have detrimental effects on soil and water quality. Organic farming
avoids synthetic chemicals but does not always address the broader ecological balance.
Industrial agriculture often focuses on maximizing yields through large-scale
monoculture practices, which can compromise environmental sustainability. These
contrasting methods highlight the distinctive principles of sustainable agriculture, which
prioritizes harmonious interactions between farming and natural ecosystems.
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5. Which term refers to the below ground, horizontal stems
that can reproduce asexually?

A. Stolon

B. Culm

C. Rhizome
D. Internode

The term that refers to below-ground, horizontal stems capable of asexual reproduction
is "rhizome." Rhizomes are specialized storage stems that grow horizontally beneath the
soil surface. They not only serve as a means of vegetative reproduction, allowing new
plants to sprout at nodes along the rhizome, but they also store nutrients, which can help
the plant survive adverse conditions. In contrast, stolons, which are above-ground
horizontal stems, also facilitate asexual reproduction but do so by producing new plants
at their tip or at nodes above the ground. Culm refers specifically to the stem of grass
and does not imply any mode of asexual reproduction. Internode denotes the segment of
a stem between two nodes and is not type-specific for reproduction. Understanding these
differences helps clarify why rhizomes are the correct choice for this question.

6. What structure within leaves is responsible for carrying
nutrients?

A. Veins

B. Stolons

C. Rhizomes

D. Inflorescence

The structure within leaves responsible for carrying nutrients is the veins. Veins serve as
vascular bundles that contain both xylem and phloem, which are essential for the
transportation of water, nutrients, and carbohydrates throughout the plant. The xylem
conducts water and dissolved minerals from the roots to the leaves, while the phloem
distributes the sugars produced during photosynthesis from the leaves to other parts of
the plant for growth and energy. In contrast, stolons and rhizomes are specialized stems
that serve as means of vegetative reproduction or storage, rather than transport.
Inflorescence refers to the arrangement of flowers on a plant, which does not directly
relate to nutrient transport within the leaves. Thus, veins are rightly identified as the key
structures for nutrient transport in leaves.
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7. In the Universal Soil Loss Equation, A=RKLSCP, what does
P stand for?

A. Soil erodibility factor

B. Conservation practice factor
C. Rainfall factor

D. Tolerance factor

In the Universal Soil Loss Equation (USLE), "P" stands for the conservation practice
factor. This factor is critical as it accounts for the influence of various soil conservation
practices in reducing soil erosion. These practices may include contour farming,
terracing, and strip cropping, all of which help to slow down water runoff and allow for
sediment to settle, thereby minimizing soil loss. The designation of "P" recognizes that
implementing these practices can significantly alter the amount of erosion that occurs in
a given area. Without such practices, the erosion rate would be higher, as the soil would
be more susceptible to being washed away by rainfall and surface runoff. This makes the
conservation practice factor an essential component in the equation, allowing land
managers and farmers to assess the effectiveness of their soil conservation efforts in
maintaining soil health and preventing erosion.

8. Which method is beneficial for managing soil fertility
sustainably?

A. Exclusive use of chemical fertilizers
B. Frequent monocropping

C. Utilizing green manures and cover crops
D. Only applying fertilizers during harvest

Utilizing green manures and cover crops is beneficial for managing soil fertility
sustainably because these practices enhance soil health, improve nutrient cycling, and
promote biodiversity. Green manures are typically cover crops grown specifically to be
tilled back into the soil, which adds organic matter and nutrients. This practice not only
improves soil structure and fertility but also helps prevent erosion and suppress weeds.
Cover crops, on the other hand, are planted during the off-season to cover the soil,
reducing nutrient leaching and increasing the overall nutrient availability for subsequent
crops. They also enhance microbial activity in the soil, which supports nutrient
breakdown and enhances the soil's overall fertility. In contrast, exclusive use of chemical
fertilizers can lead to soil degradation over time, as it often fails to replenish organic
matter and may disrupt the microbial ecosystem. Frequent monocropping can deplete
specific nutrients needed by particular crops and increase vulnerability to pests and
diseases. Only applying fertilizers during harvest does not address ongoing nutrient
needs and can result in nutrient imbalances throughout the growing season. Therefore,
the use of green manures and cover crops represents a more sustainable, holistic
approach to soil fertility management.
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9. Which of the following describes a characteristic of
conservation tillage?

A. Involves intense soil disturbance

B. Maintains a cover of crop residue on the surface
C. Requires frequent tillage operations
D. Prevents soil compaction

Conservation tillage is characterized by its practice of maintaining a cover of crop
residue on the soil surface. This approach helps to protect the soil from erosion, retain
moisture, and enhance soil health by promoting biodiversity and improving organic
matter content. The crop residue acts as a protective barrier against weather elements,
reduces the intensity of rain impact, and aids in controlling weeds, all of which
contribute to improved soil structure and overall ecosystem functionality. Maintaining
crop residue on the surface is significant because it improves water infiltration and
reduces runoff, ultimately leading to better nutrient availability for crops. This practice
stands in contrast to traditional tillage methods that often involve disturbing the soil
extensively, which can lead to loss of soil structure and increased erosion.

10. What is a characteristic(s) of soybean cyst nematode
infection?

A. Healthy roots

B. Symptoms occur across the entire field
C. Stunted roots

D. Both healthy roots and symptoms occur across the field

Soybean cyst nematode (SCN) infection is characterized by stunted roots due to the
parasitic nature of the nematode. When SCN infects soybean plants, it feeds on the roots,
leading to the development of root lesions and the formation of cysts. This feeding
disrupts normal root growth and function, resulting in stunted roots. In contrast,
healthy roots would typically indicate a lack of severe nematode infestation. Symptoms
occurring uniformly across a field could imply other issues or diseases, but SCN typically
causes uneven symptom expression, as the severity can vary based on factors like soil
type, moisture, and plant variety. Therefore, the correct characteristic of soybean cyst
nematode infection is indeed stunted roots. This reflects the plant's inability to uptake
nutrients and water effectively due to the damage inflicted by the nematodes.
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